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Sequences and Series — more practice

1. 1= the following sequence geometric?

a) 10, 15,225,375, b) 7.14,21, 28,

2. Find the comman ratio, », of each geometric sequence

-12 By =200, 100, — 50,

a) -1,

3. Find the next three terms of the following sequence

a) 386561, $5223, 7REY, -l _L_t
s as

4. Find a formula for the nth term of cach geometric sequence.

a) o= f, = 16384 b) £, =54, =135

5. The seventh term of a geometric sequence s 1215 and the fourth term is 45, Find the common
ratio, then find the value of the ninth term.

6. A population of rabbits is growing at a rate of 8% a year. [f there are 160 rabbits in the mitial
population, create a general teem equation, ¢, describing this sequence, Use it to find the

number of rabbits after 6 years,

7. Find the sum of the following geometric series. 17 necessary, round to 2 decimal places
a) T29- 2434 81-27 + .. (10 lerms)

b} T+144 284 56+ ..+ TLON

<) iﬂ.zr

&, Find the common ratio of & geometric series with a first term of 38 and a sem to infinity of 76,
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1. 1= the following sequence geometric?
10,15, 225375 o5 ) 7142128, M0 T geb fhe ned dem e

addii e same Aueby~, vt

15
o = 225 s bk by e Same. number.

2. Find the comman ratio, », of each geometric sequence

a) -1 b)) =200, 100, P R |
“200 T 2
-=
= =
3. Find the next three terms of the following sequence
~l
11 oS
a) JE6SA1, 55223, TREOMT 6l 23 b B ‘s
ss223 s S oo
r= =3 £
7 s =z - == _1
28051 —Zn 7 Eritds]

4. Find a formula for the nth jgrm of each geometric sequence:

t,=ar . . ar* ==
ay a=4, r"'”‘""‘éb\ﬁ‘(:‘f(r") b) =51, —5[_\5 s ”“:é‘
Hote =r I Fo=27

=2z

5. The seventh term of a geometric sequence s 1215 and the fourth term is 45, Find the common
rati th l'dﬂl lue of the ninth & = =45=5
L_ un n ‘.;.l ue of the nin »n_;| ar §s a . oz 45(3)
e e s
= =

o, -’\ popul.:llun of rabbits is growing at a rate of 8% a year. If there are 160 rabbits in the initial
population, create a general term equation, ¢, describing this \«.l|uu|w Use it 1o find the
number of raibits after 6 years, < ito (LOFY
6o, 172,85, - - to= 6o (1Y =
\ Zyrs 2252 rabbls
2 1 C :)
7. Find the sum of the following geometric series, 1T necessary, rulmd 1o 2 decimal places
) 729~ 24348127+, (10 lerms) ¥ 3737/% =3 S. = M )5*4 74
— /oy
b} 7414428456 1= ()

i ) 25(2) =2 1l -7(( Z> -
o Z‘ =5 5@+ w7

Io- 'ﬂl =Tioms
g0 ks b LD Q- Lf__zl |
&, Find the common ratio of & geometric series with a Iu-.t term of 38 and a sum 1o infinity of 76,
- & 7é(~r) = 38

- —6- 7er =3%




9. Find the general term, 1, . for the deseribed sequences:

. - 11
a) geometric, beginning: -2,1,-=, =..
= L it 3's

by geometric, with ¢, = 75 and r = 5
. . 1
©) geometric, with ¢, = 5 and r= i

10. Find the 25" term of the following geometric sequence: 2,243, 6,

1. List the first five terms of the geometric sequence with 1, =8 and r

ra| =

12, Find the requested sum for each geometric sequence

ay Find 8, correct 1o 2 decimal places, for a=35,

by Find 8, for o =-3 and

«) Find the sum of the first 11 terms of the geometric series that beging 7-14+28—..,

13, Determine the sum, if possible:

2343

50

b
!

i\

b ifff‘}:
dy Zﬁr

B Z"[%

walrs

14, A helium balloon rises 80 meters the first minute afier it is released. Each minute after that it
rises | 5% less than the previous minute, How high does the balloon rise in total?

Unit 4 - Rationals and SeqSeries Page 2

9. Find the general term, 1, . for the deseribed seques

a) geometric, beginning:

-
b} geometric, with ¢, = 75 and » = 5 1:5__7;: a (5)1 é,\ =3 (S) f
1 <2S = 254, a=3

©) geometric, with ¢, = 5 and r=—

4
= 4s)
Lo=5=aif 5= A&)
. G 20 -
10. Find the 25" term of the following geometnc séquence: 223 6 r = %@‘ -G

2 2
= 32 - ~ -
b= 20" = 2(3) :Qoczrsz
1. List the first five terms of the geometric sequence with §, =% ana r

> zafl =
B=o(4)  ¥7405) a2 [z, 3, ¢, 2
12, Find the requested sum for each geometric sequence

2 —_ 2
i 32: N _5) -

K _%/ 4
“3( |- (z]’_) ; ®

1-2
«) Find the sum of the first 11 terms of the geometric series that beging 7-14+28—..,

S=Tll-cD) @

1-(2)

ay Find 8, correct 1o 2 decimal places, for a=35,

by Find 5, for a=-3 and r=2 S,

13, Determine the sum, if possible:

. gy =Y %) +"’[§Jz'~ - 8 ) ¢
S:_’_ﬂ;anx- "| :{t@-ﬂ” - R - TE) 2B+ 20 - - = 5(1_3)
ﬂ\ O_@ o L5 S 25 4—!4/; = VST (=3
- (i \ = : @
= 4 -
592 [_;'_ - st s() o ._ s(3) rsii—)z -

i

+
30
S2 L8, . r=% 3 S= % W
= tq* S 3 =_2_ "4
@ B 1 3 k:”fy%: 2 s A S

A Tielium balloon rises 80 meters the first minute afier it is released. Each minute after that it

rises | 5% less than the previous minute, How high does the balloon rise in total?

o , 8, 57.8---

5. B
] — bp%S ’@



